
(1) X,/N+X,/N+...+X,,JN  (2) ,z,  i (3) NC

(4) N (5) kX~hqn
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a. x,/x + . . . + x,/x LYilib
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+ 32

(1)  104

(4) 32

17. @f?.v?lsnln~~

0 3

4 - 7

a - 11

12 - 15

16 - 19

20 - 23

(2) 72

( 5 ) 40/9

(f-j  ntfu  n (f)  ntju  “u

2 1

5 3

8 a

12 1 2

a 14

5 10

9
5 7

(3) 40

(f)  ntju  n

7

8

1 1

13

9

5

(0 n$u 9

5

10

13

12

7

4

&
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(1)  2 (2) 7

(4) 1" (5) 120

26. YlO@l$nbdl  1 $fl 100 n?-J  jlU,U element Y?JM!JaB

(1) 6 (4 ‘2

(4) 200 (5) 100

27. fh?4lfY-h  P (AB) = 0.00 Lb&  P (A/B) b'yjlfk

(1) 0.00 (‘4 P WA)

(4) P (B) PWB) (5) pn&wn

28. ado93~awgnlsd~~alu~~~~~~~~~~

( 1 )  P(B/A)  = P ( A ) (2) P(A/B)  = P(B)

(4) P(A) = P(B) (5) ihih%Jhjl

(3) 36

(3) P (A/B) + P (B/A)

(3) P(A/B) = P(B/A)

29. a$  A bW B a~PaaosaHqnla~~~na1~~~~~~~  P (A) = 0.4, P (B) = 0.3 %kUXke91

P (A + B)

(1) 0.7 (2) 0.12 (3) 0.58

(4) 0.82 (5) huammb.&Y

ST 203 409
\;



30. ~lflb’W&h~  29 61 A Ih Complementary WI9 A bbAt  B L&-J  Complementary WI9 B

89Q;iuam997 P (AB )

(1) 0.12 (2) 0.18 (3) 0.42

410 ST203



ST 203 411





N - n  1
( 3 )  (---),-I%

( 4 )  I / n

S T  2 0 3 4 1 3



( 1 )  I / n (2) ; g+ ) ; (3) a2/n

( 4 )  c&Q+ ( 5 )  h4amvn”bd&

ST 203
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S T  2 0 3 4 1 7



tY  = an + btX

M = 0, XY = 84, MY = 139, 2X* = 70, n = 6, X = 0 ~04'3Yh9~ 2502 fk 2503 44%

&?Pda~a?.h-m~~~  &iluatIM1Fil  a 44W:  b

(1) 1.4 448" 1.99 (2) 14 448: .I99 (3) 14 44FJ" 1.99

(4) 1.99 4bR" 14 (5) 14 4ba= 19.9

aleJ"b~~~9~1"75l~nl~~~~~~ 2519

(1) 72,000 IJI'K  (2) 75,600 ¶JlYl  (3) 90,000 IJlYl

(4) 108,000 9JlW (5) 94,800 IJIW

92. mn~w&%~9i 99K7paa~wi~ier%~4iaa~eraiua~ou~~~~ 2519

I\ (1) 90,000 (2) 7,500 (3) 6,000 IJlYlIJIW ¶Jlvl

(4) 72,000 EllYl  (5) 7,525 ¶JlW
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Y

P9HlbEUn@naUll09  Y1  = BOI  + /LlXl

(1) Y, = - 2 + 4x, (2) Y, = 1 + XI (3) Y, = -I+

(4) Y1 = 1 + +x1 (5) Y, = 1; + XI

ST 203 419
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.
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128. Lm&i&Wl  500 F1l.4  &.o¶J  ST 203 bib G, P, bLR=  F 8:;

(1) 500 possible outcomes (2) 3 possible outcomes (3) 150 possible outcomes

(4) 100 possible outcomes (5) h.+%h~fl

129. ~UfllWlClCl~flLth  1 i?l 600 9lf.l  elementary unit 71:i

(1) 6 elementary units (2) 100 elementary units (3) 1 elementary units

(4) 600 elementary units (5) h.4ammKa.L!~

130. bUubM~uqf1lM  2 5i.i  wa”ou  “1 G.b iwal-4  100 v-l&  PE$

(1) 4 possible outcomes (2) 25 possible outcomes (3) 50 possible outcomes

(4) 100 possible outcomes (5) 2 possible outcomes

131. iYp~aw~~aaa  1 %I  10 0%  10  in  h-dos Gbpmi  I y d?Ghw.wlu%T~b~~

Iin~msMundos  fi~o~od~~~ao~~~~  mP9amkvw7~anfT~  thx$ei~9~~7  q i%.~

200 Flf-3  ?tG

(1) 20 possible outcomes (2) 100 possible outcomes (3) 19 possible cutcomes

(4) 200 elementary units (5) $0 3 tY¶i $8 4 ty

132. aoaamoi~esuierawv  i Bs 300  of$wn&x  nai~Jdi9-I~Pb~rosnl~~~~n~~~~~~~~~~

ebl?U  VISSJIULW~I  223 d%

(1) l/223 (2) 77/300 (3) l/300

(4) l/77 (5) 223/300

133. ~a7sJ~79rr0rauosnla~~~n~n~~~~~~~~~~~~~n~~~~~~~~~~~~~n~~nn~~~~~~~~

dpm&ah‘h  3 Bn hia 4 p saar&e47m  5 Bn .&A

(1) l/20 (2) 9/20 (3) 3/4

(4) 5/36 (5) b.E&Iqn

134. ^a~7w~~~aaw7al~a~o~~~~~a  q ldl.GmlGTau

(1) CaGwmin (2) KaeYndhi~ (3) Cathwsmamda

(4) iTaiao-i1Gl (5) ~a&m=SYaiaFm

135. ilesa’Elae4qniasib”~~~ai~~~~~~~  P (A) P (B/A)  atiin”El

(1) P (4 (2) P W (3) 1.00

(4) P @I P (B/A) (5) P (A) P (B)
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136. P(AnB) = P(A)P(B)  b&l

(1) ~esgni-mLTh  mutually exclusive

(2) LMfltll~db'h mutually exclusive LLRr exhaustive

(3) awfnls&bnaiu6~u~Cu (4) L~l~80n@hiaof.h~~LlJ¶J  with replacement

(5) L3l&fl~~'ao~l9LLEIE  without replacement

139. ?ln~WleJ"%l~  137 ilMauu"a~R~nl~~a'sod4-Wils Z = -2.17 fh 2 = 2.17 dlfh

(1) 30 "Uay (2) 15 ikly (3) 970 Gy

(4) 485 ky (5) 985 hip

140. 61 Z LgOa standard normal random variable 'F1'2laJ~lP~~dlAX3~l~  - o :¶.I + D bYhf%J

(1) .34 (2) .45 (3) .475

(4) .68 (5) .95

141. mnbw&&Gi 140 mwti1~~a~u~~~i~9  -30 fh + 30 bw'vh

(1) .68 (2) .90 (3) .95

(4) .98 (5) .99

142. 61 lop:, = 240 P~@hUamp91~1 n

(1) 24 (2) 4

(4) 6 (5) 10

(3) 1
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I.T. 295 152 2 1 4 171 131 178 225 141 116 173 2 3 0

G.P.A. 3.4 1.6 1.2 1.0 2.0 1.6 2.0 1.4 1.0 3.6 3.6

1.Ti5  174 236 198 217 143 135 146 227

ST 203 405



(1) X,/N+X,/N+...+X,/N  (2) ,f,  i (3) NFi

(4) N (5) ‘aahX0bqn

406 ST 203
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173. mnTPw6Gow" 171 ssQilwa~~l6~V~~~alnl~~~~l6~

(1) 120% (2) 122.1% (3) 122.5%

(4) 127.2% (5) 88%

174. e7nbmGbfi 171 ss~lpsa~wlr~v~~~~3al~~~~~~~~~~~

(1) 120% (2) 122.1% (3) 127.2%

(4) 80% (5) 85.7%

175. -ainlwvX& 171 ~~~~~~~~~~~~~~~~~~~~~~~~~~~

(1) 127.2% (2) 122.5% (3) 120%

(4) aa% (5) 85.7%

176. PldiWt%~ 171 99$ilMa61bP91661"U~~~~~BJl~~~~~bh

(1) 127.2% (2) 122.5% (3) 120%

(4) 88% (5) 86.7%

177. $1”7  Da/b = 0.5, Pb/c = 0.8, Pc/d = 1.50, W$ilU'J~bHl Pb/a -dl&hSh!S

(1) 125% (2) 200% (3) 40%

(4) 20% (5) 60%

178. ~7fI6Wl&?kI~  177 %&u~mW  Pa/d 'hi%lbYil~3

(1) 60% (2) 120% (3) 75%

(4) 200% (5) 40%

179. ~ln~'Dd'%l~  177 WhA-J61bHl  Pd/c dliiFhh~4

(1) 60% (2) 120% (3) 75%

(4) 200% (5) ELl%

180. Whld”%~  177 W~lU~61bM7  Pb/d  %%h’ilub’s

(1) 60% (2) 120% (3) 75%

(4) 40% (5) 66.7%

181. ~sbnJ~eruwunla~osrruaTCaJ  (6&k~?l~XW&bU~~~)  4 = 1.36 + 0.5X origin 1946 X

CAti?fJk?lUV1%¶5  tYllG origin bJo$ 1956x JMGau6~uM$J2  a~ni~aiuubG-lu

(1) $ = 1.36 + 5X (2) d = 13.6 + .5X (3) + x 18.6 + 5X

(4) $ = 6.36 + .5X (5) $ = 13.6 + 5X

ST 203 431



182. wnbm.%?i  181 wvmi7uuabthiosS  1945

(1) 2.36 (2) 1.86 (3) 1.36

(4) 1.56 (5) 0.86

183. R~nl-sbLPba6~~“UOSb~~s~~iSL~U~~~~~U  8  = 10 + 11 X - 5X*  origin 1955 - 1956 X &lti’W

+l+Sl  LIJdUl4  origin Ips”b&4S  1955 I&L%-4

(1) $=6+21X+5X’  () 2 13  = -6 + 21X - 5X’ (3) ? = 16 + X - 5X2

(4) ? = 26 + 21X + 5X’ (5) 4 = 16 + X + 5X2

184. ~l~l~~lPa~Pb~U~li7a~~~~~~l~~  1950-1956 (%‘kh.Widla”)

?I 1950 1951 1952 1953 1954 1955 1956

hm&bn”?oon  10.1 14.9 15.0 15.7 15 15.4 18.9

RmumIGw-m  4 = a + b X +GmamwAi  a L%lU?~~96OdO

(1) -1.6 (2) 1.6 (3) 0.78

(4) 13.3 (5) -13.3

185. Wlhlf%.l  184 P9h4-dWWil  b bW%k%hJ

(1) -1.6 (2) 1.6 ( 3 ) 0.78

(4) 13.3 (5) -13.3

186. amTw&h~  184 aaJn7ar~ua6~BJi;PSLQ~UL~UUI~

(1) i? = -1.6 + 13.2X (2) $ = 1.6 + 13.2X (3) f = -13.3 + .78X

(4) 4 = 0.78 + 13.3X (5) i? = 13.3 + .78X

187. 9l?lhl&?kl~  184 ‘Wdl4.L%2b~Ull~J~  1951

(1)  13.3 (2) 12.52 ( 3 ) 14.08

(4)  14.86 (5) 15.64

G-d I
nsngmu

1950 Eh~bW.hm~n~~ 9 = 144 + 72 x a-rPl~uPaaun758a~eb~~ni~  Y

vo&ioulKlu

( 1 ) 4 = 12 + 6X (2) 4 = 1 + 0.5x (3) 9 = 12 + 0.5x

(4) + = 144 + 6X (5) $ = 144 + .5x
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196. 61 r = 1.00
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tilwBual~n~abu

1. (4) 2. (5) 3. (1) 4. (4) 5. (4) 6. (3) 7. (4) 8. (1) 9. (4) 10. (3)

11. (3) 12. (2) 13. (2) 14. (5) 15. (1) 16. (1) 17. (1) 18. (2) 19. (2) 20. (5)

21. (3) 22. (1) 23. (4) 24. (2) 25. (3) 26. (5) 27. (5) 28. (5) 29. (3) 30. (3)

31. (2) 32. (5) 33. (4) 34. (1) 35. (2) 36. (5) 37. (5) 38. (2) 39. (5) 40. (I)

41. (4) 42. (4) 43. (3) 44. (1) 45. (4) 46. (1) 47. (2) 48. (5) 49. (4) 50. (1)

51. (3) 52. (5) 53. (2) 54. (1) 55. (4) 56. (I) 57. (3) 58. (I) 59. (5) 60. (1)

61. (2) 62. (3) 63. (5) 64. (4) 65. (3) 66. (5) 67. (1) 68. (3) 69. (2) 70. (5)

71. (4) 72. (2) 73. (5) 74. (4) 75. (3) 76. (4) 77. (5) 78. (5) 79. (I) 80. (3)

81. (5) 82. (4) 83. (3) 84. (2) 85. (3) 86. (5) 87. (2) 88. (5) 89. (3) 90. (3)

91. (3) 92. (2) 93. (3) 94. (2) 95. (2) 96. (5) 97. (3) 98. (1) 99. (2) 100. (5)

101. (3) 102. (4) 103. (4) 104. (I) 105. (5) 106. (2) 107. (1) 108. (I) 109. (4) 110. (2)

111. (3) 112. (5) 113. (1) 114. (3) 115. (5) 116. (4) 117. (5) 118. (2) 119. (5) 120. (3)

121. (4) 122. (5) 123. (4) 124. (1) 125. (1) 126. (2) 127. (3) 128. (2) 129. (4) 130. (1)

131. (5) 132. (3) 133. (5) 134. (1) 135. (5) 136. (4) 137. (2) 138. (5) 139. (3) 140. (4)

141. (5) 142. (2) 143. (5) 144. (4) 145. (5) 146. (1) 147. (4) 148. (2) 149. (2) 150. (3)

151. (2) 152. (4) 153. (5) 154. (I) 155. (4) 156. (3) 157. (3) 158. (1) 159. (3) 160. (3)

161. (4) 162. (5) 163. (2) 164. (3) 165. (2) 166. (1) 167. (3) 168. (2) 169. (4) 170. (2)

171. (1) 172. (5) 173. (3) 174. (4) 175. (5) 176. (5) 177. (2) 178. (I) 179. (5) 180. (2)

181. (4) 182. (5) 183. (2) 184. (4) 185. (3) 186. (5) 187. (1) 188. (3) 189. (1) 190. (2)

191. (2) 192. (4) 193. (4) 194. (5) 195. (5) 196. (2) 197. (4) 198. (3) 199. (1) 200. (2)
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(a) n = 5

P

\
(1

0

I

2

3

4

Vll%lSi  1 (a, b, c, d, e)

nl%lsnalPl~laaldulSsP1~Pal01

fil%um%l&mnl  a1 P (x)
x=0

lbJ  n  = 10

P

\ (I

0

I

2

3

4

5

6

7

8

9

l-

1

0.90  0.95 0.99

-IT
.ooo 300 .coo

.coo  .om .oa

c

.009 ,001  .ooo

.081 ,023 ,001

.420 ,226 ,049

P

/
a

0

I

2

3

4
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6 6

7 7

8 8

9 9IO

10

II 11

12 I2

13 13

14 l.ooo  l.ooo  l.coo  l.owl  l.cccl  l.ooo  l.cKM 1.ooo .995 ,965 ,794 s37 .140 14

ST 203 4 3 7



(d) n = 23

9

IO

II

I2

I3

14

I5

16

17

18

I9

9

IO

II

I2

13

I4

15

I6

I7

I8

19

438 ST203
































































